Q.P. Code - 56671

M.A. (Final) Degree Examination
SEPTEMBER/OCTOBER 2013
(Directorate of Distance Education)

Sociology

(DPB 510) Paper V - SOCIOLOGICAL THEORIES

Time : 3 Hoursj

[Max. Marks : 70/80

Instructions to Candidates :
.Dng.@rrfe’ff FRIe

1)

2)

3)

4)

Students who have attended 30 marks IFA scheme will have to
answer for total of 70 marks. _
30 eosnY eosdby a’%’éai)@ai)q 200 Qazgr@ﬂf@() 70 eosnY @’{n’e’rf

V3 OzeICB.
Students who have attended 20 marks I-A scheme will have to

answer for total of 80 marks.
20 eosny eo30s FGdabBabd 2L O, Perieh 80 ezt g

e Ouefeso.
Answer any FIVE of the following questions under Section-A. (For

students under both the 70 and 80 marks schemes). Each question

carries 14 marks.
Jer-ai o aregmende s Zgrert eugoi (70 ToF) 80 eosridoEe

w’agéai)qfv‘ Ejac) Qe eafgaa)ng‘d). F3gdrf 14 eosrTel,
Question No. 11 in Section-B is compulsory for the students under

80 marks scheme only.
80 worrny eo3b7 su"%'éai) edabd oL Qa%@f‘rre’rf Dgrn-8 WO

11&e g2 Fwaioeoad
nz a -

SECTION — A/ 2 ~ &

Answer any FIVE of the following questions. All questions carry equal marks :

5x14 =70

SENRRVE, CIRRTTTe OEE, BIOR. HER BBV FZRT BoBrie:

1. What is theory? Explain its types.
?ammos 2ordeRL? Ba FNYRY HIV.

2.  Write about origin and development of sociological theory. -
RBRETOH 03 0BT LU o3y wS¥Seirtod wif wdol.
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3.

10,

What is reference group theory? Explain it in Indian context.
BoRBE oD 2oEteRd? VBN, WeTdeod ZE830008 HTOAD.

Write about Merton's views on Middle range theories.
Bogho Soenen 2wosne wif BotsF0RT Gagueesd wif wdod.

Discuss Levy's views on functional pre-requisites.
F203RF 3T Rper 3By wif Sdob=d B AgReIST, BueD.

Explain contribution of Talcott Parsons' views on social system.

RIBT %ﬁﬂmojo aorj\ mm&w mﬁradeﬁd ﬁaatéoﬁo.bdgt D20,

Write about C.H. Cooley's contribution of symbolic interactionism.
T20%e38 W030°E030BTIM 2B gpdadzd Swroriods wif wdodd.

Write an essay on C.H. Cooley's theory of Looking Glass Self.
3LS00IT B0 Bob0 BBF 8 1S Y Fwog=sy, wdad.

Write about Dramaturgy of Goffman.
TSRO0 “ Petddeadsd” odd wif wIoD.

Write notes on any TWO :
Bezar HOBY, LA wiod:

(a} Levels of Theorisation.
%mgoéeﬁdeaci Do3ne,

(b) Theory of Deviance.
@0 L0208,
Q @
(c) Primary Group.
Z,BAE ooy,

(d)  Functional pre-requisites - Parsons'.
F0IRFIY ;-’gamrssﬁﬁéﬁq}o - STRE,
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11.

SECTION - B/ &gent - B

Compulsory Question for 80 marks scheme only :

80 wosrid 3ol JwyBENIN sweod T3 :
(a) Discuss G.H. Mead's contribution to interactionalism.
©030°8,0300 2032033, .35 MeE*OST Frortodry wued.
Or/ egse

(b) Explain Coser's views on the functions of social conflict.
RIBIET ROPRE B Wi FRCRT*TIT q)%ﬁﬁcﬁdd% 232320,
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M.A. {Final) Degree Examination
SEPTEMBER/OCTOBER 2013
(Directorate of Distance Education}

Sociology

(DPB 520} Paper VI - POLITICAL SOCIOLOGY

Time : 3 Hours/ [Max. Marks : 70/80

Instructions to Candidates :
Do B Bewatne :

1)

2

3)

9

Students who have attended 30 marks A scheme will have to
answer for total of 70 marks.
30 worny e030F wa’éai)éai)cf’ 2003 DT @Fﬁeb 70 w0y I %’/f%’ff

evvg’aa’zd’ea‘o

Students who have attended 20 marks LA scheme will have to .
answer for total of 80 marks.

20 eosny eso3dv a’cg’ao.bﬁabq 200 Sac) Heries 80 esosTe ggﬁérf
vz Ozeies)
Answer any FIVE of the following questions under Section-A. (For

students under both the 70 and 80 marks schemes). Each question
carries 14 marks.

DTt~ GBADE AR TRECR D> FLIY euFO4 (70 TZ) 8O om0
TPIANDN S0 PN eToVEZE). 33 3/ 14 wosrish:

Question No. 11 in Section-B is compulsory for the students under
80 marks scheme only.

80 wory es030F E)’g’éai) esBobg wobT Do, Prrert Derer-8 F
11¥c 44 s@gabaphodgd

SECTION — A/ &R - &

Answer any FIVE of the following. All questions carry equal marks :

5x14=70

Sehiel AR TETL OEd BBAN euddk. SR, BIAVN IZRS LTI :

Discuss the sociological approach to study of politics.

gozsdealn eaz;’iscmaiﬁd ABPG aa:-goi) q)cfsaﬁ@eaidag ERTE I

Explain the nature and scope of political sociology.

Tamsdead) ABRWIR B %dfad 208) mﬂéaimgt =302,

1 P.T.O.
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3.

10.

11.

Analyse the ruling class theory of Karl Marx.
Fofe BRetrosd eehd snfd ?am%oa’da%&épgm.

Define factionalism and discuss its consequences.
o) 1edFoLT) JYAR 02y 00 BOHBIDONGR), W31 A.

Write an essay on political participation.
Tazsdeady 27NBHIaTl 3003 2,000 3,205 WE0D.

Analyse the role of linguistic factors in politics.
UazdeadB 2300 @oBnY HITw) HBeAR.

Explain the role of press and education in development ef nationalism in
India.

17035 agraiidad) euEeB BYE 208y 830G FYEE HIOR.

Discuss the functions of Panchayat Raj institutions.
D0ow0dr3* Tots® FOINY ToodFTieDy, WidrA

®

Examine the changing pattern of rural leadership.
WHERTLITOT MR,Ae T0LTSDHY, FDBedA.

Discuss the relationship between politics and social change.
Dotsdend) S03) Kot wHULSE BEIDS 30&0!;555(‘\13{ 23edF2.

SECTION — B/ 2n - D
Compulsory Question for 80 marks scheme only : 10
80 woznd Iusob AR HFAYN sEaad =3 !
@ 3 a 2
(a) Discuss the agencies of political soctalization.
Catsdeody Fonnueatnt dodeeNndd) widrd.
Or/egoe

{b} Analyse the role of caste in Indian politics.
PRUIE Tatsdeodrnd), wodod HZ BT, BN,
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M.A. (Final) Degree Examination
SEPTEMBER/OCTOBER 2013
(Directorate of Distance Education)
Sociology
(DPB 530) Paper VII - URBAN SOCIOLOGY

Time : 3 Hours| [Max. Marks : 70/80

Instructions to Candidates :
.nngarn’e’ff aeesdned :

1)

2)

3)

4)

Students who have attended 30 marks LA scheme will have to
answer for total of 70 marks.
30 woEnY 0307 w’%&?ai)@abq 2005 Qw%@rﬁeb 70 woFny @’g’m?ff

evgogeses.
Students who have attended 20 marks I-A scheme will have to

answer for total of 80 marks.
20 wornY 0305 TPdaLBalbd woLD JmPrnL 80 worny FIrerf

g Ozeeso.
Answer any FIVE of the following questions under Section-A. (For

students under both the 70 and 80 marks schemes). Each question
carries 14 marks.

DI SBADLE ARYTREICLL SO I U304 (70 XZ) 80 wosroEe
TPILIT S Periert eRaVFH). T3 Ferf 14 wovriel,

Question No. 11 in Section-B is compulsory for the students under
80 marks scheme only.

80 wostd wosby sgdal eBabg wis J0gPendd pn-0 FIF
11dfe 5d ooz d.

SECTION - A/ &% - &

Answer any FIVE of the following questions. All questions carry equal marks :

Sx14 =70

YNNI odnZ)merde di% g B2 ae}am@é;lﬁ%?r{m BT wosried :

Trace the origin and development of urban sociology.

Inc sBREHE B evnisd BBy wYSeiriad), ool

Analyse the growth in medieval period with suitable examples.

Aeg eumeEsandwobl Sogigedes Snd WeEediiodn) H8ead.

1 P.T.O.



Q.P. Code - 56673

3. Explain the rural-urban dichotomy.
Me=o-Brid &ordadmy JFOAD.

4. Analyse how industrialization contributes to urbanisation.
3 redegdens) ol Dedodd, [degTes, Ro0d0Ta00I0rIEE D0B) JBLA.

5. Critically evaluate multiple nuclei theory.
wBs Feoder 3 Sood 2H03I), ASoFrgFIen QB0

6. Discuss the problems of urban health and sanitation.
Sig sdeer, B8y B@oFed FRXNRYRY, 0.

7. Identify the problems of classifying cities.
Sndned Shersded IRORNYR), T80

8. Discuss the major problems of urban population in India.
eU3RAR ST Sooa) wER0aIYy BHIK R 1323F 2B,

9.  Write an essay on “Urbanism as a way of life”.
“®rde, 20030 23T APE” BB Lowd oy WD,

10. Write notes on any TWO :
3e5en HURY, E3ned w300 !

(a) Over urbanisation.
1830353 Srdessn.

(b) Metropolitan City.
Soxe Jnorie.

{c) Urban Housing.
{ng S38.

{d) Modern Cities.
#50ds Fridnig.
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11.

SECTION - B/ ayent - @
Compulsory Question for 80 marks scheme only :
80 eoznd IEIoD &%@Fﬁ@ﬁ o B3
(a) Analyse the urban and regional planning in India.
27003BART {NS S032 EioYAN: az?q)agaifacméobd% DBLAAD.
Or /g

(b) Critically evaluate the sector theory.
FJood ?aaaoodﬁw% D3ozar gFezeh DB eH0.
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M.A. (Final) Degree Examination
SEPTEMBER/OCTOBER 2013
(Directorate of Distance Education)
Sociology

(DPB 540) Paper VIH - INDUSTRIAL SOCIOLOGY

Time : 3 Hoursj [Max. Marks : 70/80

Instructions to Candidates :
avagaﬂfe’ff BResdel :

1)

2)

3)

4)

Students who have attended 30 marks A scheme will have .to
answer for total of 70 marks.
30 wopny eso3dF zcgéab@ai:qg 2008 e‘:)ag@rrfeb 70 woFme g’gﬁeﬂrf

V3 xS es, :
Students who have attended 20 marks I-A scheme will have to

answer for total of 80 marks.
20 wosne eso3d7 a‘:’%’éoi)@ai)tg 20053 09, D¢ 80 eowrie og,’g’ifeﬁff

g Ozesea)

Answer any FIVE of the following questions under Section-A. {For
students under both the 70 and 80 marks schemes). Each question
carries 14 marks.

DeTorT-adiv &Bale) almymeace s Gt evgdi (70 23 80 &or1dome
T2IADOT ez Pervert ygaa)a’)_g’d ). gd Hdrf 14 eos/1e0,

Question No. 11 in Section-B is compulsory for the students under
80 marks scheme only.

80 wosny esoddF e-—a’cgéab &3a0d  wdis cﬂaia)r@r’ﬂf?ff DgTIT-8) TSI
11de g2 smaboeAoLdd

SECTION - A/a%n - &

Answer any FIVE of the following. All questions carry equal marks :

5x14=T0

FUNT IRHTRETS DR BERIN eu3dh. HeR, FrieN IR VoI |

1. Define industrial sociology and describe the scope and importance of
industrial sociology.
& Me0Te ABRwTR ST, S3R,209.0% BOBY FredTe ABRwBR B 9% W3 DoBIZT ATOR.

Explain internal structure of guild system.

38 0PV ©o307 Jeisodody, D02

1 P.T.O.
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10.

Distinguish between line and staff organization.
Bog (Beed) [03) 20l RoPUBNY DI RFRY, fodada.

Explain the importance of workers participation in management.
BEYE So0BYold) F20FTF0 Perlmdbroddod SBoBLIE), S0

Discuss the role of industrialisation in social change process in the context of
Indian society.
Po08c0d) ITREE FoBPFRY RBRET WIRIT B 0dobd, BEoestnn mo3, 3.0

23236 20.

Describe industrial incentives in India.
(Arler nlu ] 3,meboe evdewsried :Dt;irfe?dgl Feialils)

What is absenteeism? Examine its impact on productivity.
o0 Bw0IT LoEdemy? euze@sod Soees urbs wud 56&3&55&3{58@@&

Trace the trade union movement in India.
P0IBY F>aFFC ﬁ@oﬁ@aﬂoaﬂ% radodd.

Explain automation and its repercussions on employment generation.
ﬁaabome)ambidgtm&_. wz&%eméméﬁ@dﬂ 7zI=3¢ B0 mmmsa;t D30,

Write notes on any TWO :
weson 0B, 3289 WwSoD !

(a) Working class consciousness.
To0FT SriF Je,

(b) Labour welfare.
FoETo ﬁeu%m.

(¢) Collective bargaining.
AOBDVRHT HopRE/ Tl

(d) Industrial harmony.
8,Me0B0 FOBUFS.
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SECTION - B/ dyent - 2
Compulsory Question for 80 marks scheme only : 10
80 wozrid Iug c‘.')waz@?rie?ﬁ gmeod 33
11. (a) Write an essay on industrial bureaucracy.
g rede ad%aa&:ojoag B0 2,000 @woddr&& 2oad.
Or/egae

(b) Discuss causes for industrial unrest in India.
03BA00 §redse wzvodad wri 1¥¥FaD.
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